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TIMER SWITCHING FUNCTIONS IN MINUTES
LOC| COLOR|FUNCTION 10 20 30 40 50 60 70 80 90 100
12B| PK WATER VALVE - C - - - Y
0C |BU PUMP MOTOR - — — - = ——
14B| VIO DRAIN MOTOR - — [==4 - — — — -
14T|R HEATER-WATER i — e e [
4B |R-Y__|DISPENSERS [ LI L] [
6T |BK POWER BUS
E ALT. SPRAY ARM  IsTs] s/ SIS I
oT PUMP SUB. INT. — i — = L = -
12T|BU-O |HEATER-DRY —— | - — - -
4T |BK POWER BUS —
DETENTS L ] Li L LI
ONLY LOWER SPRAY ARM OPERATES IN 1ST WASH, 1ST RINSE AND 2ND RINSE.
SPRAY ARMS ALTERNATE IN 2ND WASH, 3RD RINSE AND 4TH RINSE.
SPRAY ARMS ALTERNATE. DUE TO SPACE, SPRAY ARMS ALTERNATE MORE THAN CYCLE CHART SHOWS.
O=0OPEN
X=CLOSED 1st | 1st | 2nd 2 nd 3rd 4th DRY —
- WASH | RINSE | RINSE WASH RINSE RINSE HOT OR COOL - 'g',)J
SWITCH 71/2 71/2 71/2 19 1/2 101/2 9 27 O [
T-1-1- - TAICYCLE MIN. | MIN. | MIN. MIN. MIN. MIN. MIN. o
POTS & PANS -
HEAVY WASH
NORMAL WASH
LIGHT WASH -
RINSE & HOLD | | | | | [ —
- |- - [ X|HEAT DRY ON /
- |- |- LOIHEAT DRY OFF RINSE AND HOLD
6 MIN.
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